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sewflesll nleSlweo / COMPUTER SCIENCE

(sl wHmID Bl eufl / Tamil & English Version )

&Ted jemay : 3.00 wewfl CHyD | [ Qrgg wHutueamser : 70
Time Allowed : 3.00 Hours ] [ Maximum Marks : 70
SPleyemraen : (1) Smarsg lamsserd sflwurs udeurd o drarsr eramLgamen Fumiég)d

Instructions :

QameTerayd. SF&LILSlel @Genmudmiider, Senmé searramentiumerfliLb
2 L anquinss Ggiledissa]Lb.

feod odag  s;UY owullamer wLEGCL  TWEusHEGD,
S CargHeugn@n LwaUBhSS Calar(Hib. LLBEET auamrelsnd
Quendlé LweTU(HSSeLD.

Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

U@ - 1/ PART -1

GOy : () sz NamssEpsEh alenl wefldseb.

15x1=15

(i) GarGssuul(herer mrem@ WwrHm elegafled W&Ea|D 6mHLjenL W

devLows Csrashsss GNULHrer sl ulmearyb GCorgg

CT(LPSELD.

Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write

the option code and the corresponding answer.
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1. g Amdlepenmulen Wle Gorswrer Hlaneanwd GMl&Es MWemalmd ergl Lwem(hEng ?

(<=t) Big W (<) Big A (@) BigO () BigS
Which of the following is used to describe the worst case of an algorithm ?
(a) BigW (b) Big A (c) BigO (d) BigS

2. 2 (meuewbly ANWLILLTS ST6| eUend eTeleumn HemPssliLhing ?

(1) Concrete datatype (<) Built-in datatype
(@) Abstract datatype (rF) Derived datatype
The datatype whose representation is unknown are called as :

(a) Concrete datatype (b)  Built-in datatype
(c) Abstract datatype (d) Derived datatype

3.  eugsren el Quiss b ellengamnl 2i(ps5s5 GCeuaTHid ?

(1) F1 (=) F5 (@) F3 (rF) F2
Which key is pressed to execute Python Script ?
(@) F1 (b) F5 (c) F3 (d) F2

4. Yeeumd etgy e Qummer el Gouargwens Srorafsdng ?

(1) @enL(psLd (<=}) Quss enliy
(@) Hlye Cuwird (FF) Qam@Liumer
Which of the following defines what an object can do ?

(a) Interface (b) Operating System
(c) Interpreter (d) Compiler

5. seailefl @Geld 2 66T eUeThRIGmeT WTT Lrfenelud woHmib LweaTU®h$S (LPlg-ULb
TGS GUETPEDLILIRNSSHID 6(h UMGSTLL Ggmdled Bl :
(1) SiamisHed S (Hrum(p (<)) Loy Cgmed
(@) sremisp (FF) SImi&&Tyb

Which of the following security technique that regulates who can view or use resources in a
computing environment ?

(a) Access control (b) Password

(c) Certification (d) Authentication
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YemeumeuaTeuDmIeT 6TEl FrsSlenen FlemLTHEGD GFuUDGSM

(1) <> (=) {} (@) 0 () [1
Which of the following is the Slicing Operator ?

(@ <> (b) {1} © 0O (d []

eussrefley ClLmmener 2 (Heur&@L CFweLpenm eTa SMP&ESLILIHEIMS).
(<) wHomssD (<) 258

(@) Fmemm(meuT&HeD () <nflond

In Python the process of creating an object is called as

(@) Initialize (b) Constructor

(c) Instantiation (d) Destructor

Qar@&ssiul L sgnern euddlsrors QusEGesnE, Werelmeuameunmier &iflwmer
enennd CHMHOSHESELD.

if : print(x, "is a leap year")

(<) x/4=0 (<4) x%2=0 (@) x%4=0 (FF) x%4==
Pick the correct one to execute the given statement successfully.

if : print(x, "is a leap year")

(@) x/4=0 (b) x%2=0 () x%4=0 (d) x%4==0

SELECT &mpmi&@E uwerL(hb Slemerbd ergl ?

() X (=)0 (@) @ () 11
What symbol is used for SELECT statement ?
(@ X b) o (© Q (d 1o

If List = [10, 20, 30, 40, 50] eresféd
List [2] = 35 -6t e9enL_ :

(1) [10, 20, 35, 40, 50] (<4,) [35, 10, 20, 30, 40, 50]
(@) [10, 35, 30, 40, 50] (rF) [10, 20, 30, 40, 50, 35]
If List = [10, 20, 30, 40, 50] then List [2] = 35 will result :

(@) [10, 20, 35, 40, 50] (b) [35, 10, 20, 30, 40, 50]
() [10, 35, 30, 40, 50] (d) [10, 20, 30, 40, 50, 35]
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11.

12.

13.

14.

15.

4
CSV Gasriureng Tara|ld AMP&ESLILIHSmI.
(1) String File (<) Flat File ( @) Random File (rr) 3D File
A CSV file is also known as a .
(a) String File (b)  Flat File (c) Random File (d) 3D File
SQL -é Wse b Curgeurs LweaTLHSSILIHLD Fom

(1) execute (<4,) cursor (@) commit (rF) select
The most commonly used statement in SQL is :

(a) execute (b) cursor () commit (d) select

Qemeupd evuggrer @Golpapuien Gauefui® ereen ?
for x in range (5):
if x==2:
continue

print(x, end="")
(=1)0134 (=4,)012 (@) 01234 (rF) 0123
What is the output of the following snippet in Python ?
for x in range (5):

if x==2:

continue
print(x, end="")

(a 0134 (b) 012 (c) 01234 (d 0123
SDASG| CUATHRIGEETLLD armLL L @hem T8l devpuied sreamiss
LwerU(HE DG
(=) Qummerser (<)) @evL(1psid
(@) cuenrsene (FF) Grey Gumrl
is a collection of resources assembled to create a single unified visual display.
(a) Objects (b) Interface
(c) Graphics (d) Dashboard
QR(H STeUSSeTHI 2 emer sranel auflenswrgsd Gl LwerUb clause :

(=1) GROUP BY (<4,) SORT BY (@) SELECT (rr) ORDER BY
The clause used to sort data in a database :

(a) GROUPBY  (b) SORT BY (c) SELECT (d) ORDER BY
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L@&d! - 11/ PART - 11

GO : eTemeuCuenid ym damss@EpsE laweflEse b, efarm eremm 24 -&@&

SL_L_muwns allen_weflésalib. 6x2=12
Note : Answer any six questions. Question No. 24 is compulsory.
16. 576 S(HEUTESLD CUMS GTETDITED GTEITET ?
What is abstract data type ?
17. evusgrefe 2 arer LOGaum CFwDHEGOIHET Wrenel ?
What are the different operators that can be used in Python ?
18. GFL 6 GTEMMITEd GTETET ? DAFHEM CUMNEHHENGT 6T (LGS
What is searching ? Write its types.
19. GQgwmngailen LGN GUMEHEMET 6T(LPSIS.
Write the different types of function.
20. Matplotlib -0 2 6Tem ST SLLIHSSS® cUaMmEHTL LiLIq U0l (hs.
List the types of visualizations in Matplotlib.
21. ugblepaw OMILD euemewanolil] Sre| rHisEL Qe G o arer Ceumuim(y eremen ?
What is the difference between Hierarchical and Network data model ?
22. CSV GariL] eTemmmed eTemesr ?
What is CSV file ?
23.  sreysser 2L eumaruilelmhgl marsg Ldlesamerud CumeugDaTer auldlipenm
TG ?
Which method is used to fetch all rows from the database table ?
24. eugsTen pop() CFLINFDIET LIS 6T(LPSIS.

Write the use of pop( ) function in Python.
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U@ - I / PART - III
@MY : gCaepd opmi elarmss @ps@ e wellEgsean. ellarm ereawmr 33 -&@
SL_L_muwns adenL_weflésab. 6x3=18
Note : Answer any six questions. Question No. 33 is compulsory.
25. pure OMID impure QFuUHFmHOD Coumu(HSSIs.

Differentiate pure and impure function.

26. list -6b 2 6TeT 2 (HLLSM6T Aemi@&D LbCaum eudlpenmaer wirenel ? eT(HSSISSTL(h
&(1H .

What are the different ways to access the elements of a list ? Give example.

27.  Asymptotic DuI(h — GOILL uenys.

Write a note on Asymptotic notation.

28. if..else..elif mpenpls LwemL(hSS CarHSSILLL epeTm erewrdertied Gt eremmenemTs
sar(hbgingnarer Cummsswrear Hlrene 6T (Hs)s.

Using if..else..elif statement write a suitable program to display largest of 3 numbers.

29. Yemeumeuemeupenm LD &b eT(HSSHEST(HLar Sm GOILL euenrs.
(1) capitalize( ) (<4,) swapcase( )
Write a short note for the followings with suitable example.

(a) capitalize( ) (b) swapcase( )

30. eugsTaned &d LHMID PUIGEMET eTeueUTm eUENFWIMILILITIIL ?

How will you define Constructor and Destructor in Python ?

31. Scripting Gomludler LweTUTHSET WTenel ?

What are the applications of scripting language ?

32. Where gianenr Hlanavdsamdlen Liwier eraner ? Where speppll Lwer(hdS e(m
MUSSTET FaHEDD 6T (LPSELD.
What is the use of Where clause ? Give a Python statement by using Where clause.

33. SQL -é 2 arem TCL sl Lanerasener LDl Fm @GHILIL| euenys.
Write short notes on TCL Commands in SQL.
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U@&3 - IV/PART - IV
SNILIY : Semesisg alarmmss@psEh allen wefldsa]wb. 5x5=25
Note : Answer all the questions.
34. () Bre| S(HeULTESD ereueumm CewuduBhSgHeuTil? r(hHSgSsTL(HL6m ellerd@s.

35.

36.

LMV
(<=4) @ CoLed erammmed eTemar ? er(HSSHIHHTL(HL6T 68l6Td@s.
(a) How will you facilitate data abstraction ? Explain it with suitable example.
OR

(b)  What is Binary Search ? Explain it with example.

(=) input( ) wHMLD print( ) QFLDHImMGmT THSHESTL (LT eNeTsEs.
LMV Y

(<=y,) wrdludlen cuanrbenasamer 6T(hESISSTL(HL6m 66T Es.

(a) Explain input( ) and print( ) functions with examples.
OR

(b) Explain the scope of variables with an example.

(=) range( ) -a1 CBET&SLD eremen ? T(HSHIE STL_(HL6m eNemd@s.

LMV Y

(<) Warmeumd 2 me|blena @Quingafils CFun@nsamer er(H&gEET(HLem allerd@s.

O @bz (i) OBz
(i) Ceumumr@® (iv) asriedlwen LSS0
(a) What is the purpose of range( ) function ? Explain with an example.
OR

(b)  Explain the following operators in Relational algebra with suitable examples.

@ UNION (i) INTERSECTION
(iiiy DIFFERENCE (iv) CARTESIAN PRODUCT
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37.

38.

(=) SQL -6 gamigeT wrenel ? gelbleumamdh@d S L nersaner 6(Lpgis.
ENTVOVE: ]
(<) C++ &l Cerar enuissraflen LTS smmsamer 6T(Lpgis.

(a) What are the components of SQL ? Write the commands for each.
OR

(b) Discuss the features of Python over C++.

(=) ewussraie em Carlamu LiglugnasTear LGalm eULlPaMEENET 6T (LSS
S|6V60F)

(<4,) Matplotlib Slenrulled srenrliLi(hd LOGCaum Curssrersamer allems@s.

(a) Write the different methods to read a file in Python.
OR

(b) Explain the various buttons in a matplotlib window.

-00o0-



